
Calcule mentalement ces additions :

61,1 + 5,8 = 66,9 96 + 0,49  =  96,49

8 + 0,57 =  8,57 56 + 5,9  = 61,9

5,4  + 3,8 = 9,2 0,46 + 0,6 = 1,06

25 + 0,7 + 0,08 + 0,006 = 25,786 2,09 + 43,91 = 46

97,9 + 0,21 = 98,11 0,09 + 98 + 0,7 + 0,002 = 98,792

2,6 + 0,98 = 3,58 9,74 + 6,5 = 16,24

Calcule en avançant ces soustractions :

4 - 3,8 = 0,2

9 - 7, 6 = 1,4

48 - 47,03 = 0,97

10 - 8,45 = 1,55

7 - 5,55 = 1,45

Calcule en reculant ces soustractions :

15 - 1,8 = 13,2

9 - 2,7 =  6,3

87 - 4,8 =  82,2

51 - 5,19 = 45,81

23 - 0,13 =  22,87


